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3/24/2010 MATH361 Calculus I11 Name: S/\ ] \/ }J(jm
Dr. Lunsford Quiz 5 (40 Points Total)

Please show all work on this quiz.

J.sin2 udu = lu —lsin(Zu) +C
2 4

jc052 udu= —l—u + lsin(2u) +C
2 4

Problem I. Below you are given the polar graph of 7(€) =1—sin(@). Find the slope of the tangent line
to 7at & = 7 . Draw the tangent line on the graph. (12 points)

{/ o/é 1782mG tr(60) 1o

m|;:]

oAy d)r [76) ros & -6 € \:E‘__
i N

v : .

ffﬂ): / 0 05 1415 )

r'/@)= -0}, rym=4

2%
4

_4’1 - //O)L(./ﬁl« - = :/j_w\ E

O/X B Y § -1 ohre $he TN
1 -1) =) )4 n
9.{77’ ( )/ ) ,/n\( ,{‘ P/;,ﬂ Wf/

Hu 9‘2771’

Problem II. Below you are given the polar graph of #(€) = 2cos(6/2) . Indicate the portion of the
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graph that is drawn when 7 < 0 < 7 . (5

points)
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Problem III. Convert the integral I I (x+y) dxdy topolar coordinates. DO NOT INTEGRATE.

0
Use the axes provided to your right to graph the region over which you
are integrating. (10 points) R
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Problem 1V. Below you are given the polar graph of 7(€) = 4sin(3€). Find the area enclosed by the

graph. Hint: The graph is completely drawn for some € < 27 . Neatly show all work. (13 points)
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